Mit Zehnerpotenzen multiplizieren (fehlende Zahl)
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Name: Datum: Ergebnis:
10, 953 x = 10953 7,025 % =702.5
7,332 x = 7332 7,821 x =78.21
1,446 x = 14.46 1,601 x = 16.01
4, 109 x = 4109 3,288 % = 3288
2,172 x =21.72 7,634 x =763.4
3,386 % = 33.86 9,463 x = 9463
5,852 x = 58.52 5,293 x =529.3
2,954 x =29.54 1,736 x =173.6
7,131 % =7131 9, 154 x =91.54
1,597 x = 1597 7,633 x = 7633
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Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

Name:

10,953 x 1000 = 10953

7,332 x 1000 = 7332

1,446 x 10 = 14.46

4,109 x 1000 = 4109

2,172 x 10 =21.72

3,386 x 10 = 33.86

5,852 x 10 = 58.52

2,954 x 10 =29.54

7,131 x 1000 = 7131

1,597 x 1000 = 1597

Datum:

7,025 x 100 = 702.5

7,821 x 10 ="78.21

1,601 x 10 =16.01

3,288 x 1000 = 3288

7,634 x 100 = 763.4

9,463 x 1000 = 9463

5,293 x 100 = 529.3

1,736 x 100 = 173.6

9,154 x 10 =91.54

7,633 x 1000 = 7633
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